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Determine the answers to the following.
Then find the letter of the final answer from the choices below.

I j d(cabin) _ e -
- cabin
2. 3 f (ice) d(ice) = +C =

3. 2¢1freal d(real) = C+ =

6 fd(wazz) = +C =
d(amint) _ _
— a mint
8. If y=4 Bull, Then dy = =
9. pfd(!ane) = +C =
10. 4fdr= + C = seafort =
£
11 10fdx = =




13, 8fdx= M) =
1]

board
14. cos(y) dy =
|

1
dw
15. «a = =
_j'\fl—wz
16. fcos(x)dx = =

0
hide
17. fsec2 (z)dz =

I

Springs
18, -f csct(Vidv =

T

T
EVe
19. 8 | xdx =
— 5
That's
20 dr =
all
Answers:
A. eyetooth B. sine board C. lean-to
D. iceberg E. bed springs F. movie
G. battleship H. see areal square I. houseboat
J. half a pie K. debatable L. tent
M. tea for two N. linament O. tan hide
P. wound Q. hydroplane R. Cart
S. cot springs T. nohide U. ice cube
V. log cabin W. That's - all X. dike

Y. movie hero

7. eye (4) eye - tooth (4) tooth



